GROUPE SCOLAIRE MARIE REINE RWAZA
[image: F:\SECRETARIAL\2013\LOGOS\IMG-20190919-WA0012.jpg]			
TEL. 0788548407				     
P.O BOX 45 RUHENGERI                              
[bookmark: _GoBack]E-mail:mariereinerwaza1@yahoo.com 
               
 SENIOR 2 PHYSICS REMEDIAL AND COACHING HOLIDAYS WORK
                     
1.  Determine the acceleration that results when a net force of 1000 N is 
    exerted on a 50 kg object.     
2. Define the term” Kinetic energy of an object”
b. A 1000 Kg car accelerates at a rate of 20m/s. Calculate its kinetic energy.
 3. How many significant digits in 1.00825? 
4. a.How much is the initial velocity of an object which travels a distance given
     by x=10t2+15t+5 along  a straight line in time t?  
  b. What is the acceleration of the above object ?   
 b. Evaluate the displacement covered after 4 seconds.                                                                                              
5. A 40 N block exerts 20 Pa of pressure on a table.
    What is the area of the block that is touching the table?
                                                                                               
6. (a) Calculate the relative error for the mass of a body  m=(12.25±0.25) g ?   
 (b) You measure the length of a table to be 25.2 cm with an absolute uncertainty (error) of 0.01 cm. 
(i) Write down the expression of the length like   l                    
(ii) Calculate the percentage error in your measurement.   
7. A 100 g wooden block measures 3cm by 5cm by 8cm. 
a. Calculate the least pressure it can exert.
b. Deduce the greatest pressure it exert.    G= 10 N/kg
8. (a) An automobile with an initial speed of 3.0 m/s accelerates at a rate of 3.0 m/s2. Find the final speed and displacement after 4.0 s. 
(b) What is the force of friction between a block of ice that weighs 930 N and the ground If μ=0.12 ?  (b) Give the difference between accuracy and precision.                      
9.(a)  A ball has been thrown upwards with an initial velocity of 30 m/s. while it is in the air; it experiences a constant downward acceleration of 10 ms-2. What is the position of the ball after 2 s?                       
10. You measure the length of an object five times and you recorded as:  
	Measurement
	Data set (cm)

	l1
	         70

	l2
	         80

	l3
	         78

	l4
	         69	

	l5
	         75


Calculate: (i) the mean,(ii) the range, (iii)uncertainty in the measurement, uncertainty in the mean and (iv) express the measured value of length as   l .    
11. (a). Define the term fluid and give two  examples 
(b). State three factors that affect pressure in fluids. 
(c). Why are water tanks placed at the highest places?     
(d) Calculate the pressure the water exerts at 8 m below the surface of the water in a lake. Assume the density of water ρ=1000 kg/m3 and g=9.81 m/s2. 
(e). Assuming that a hippopotamus  and hen are  acted on by the equal force( weight)  and all walk on wet soil, which one digs the soil easily? Explain your argument referring to pressure in solids.      
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